Buyer: Edward Erikson
Flight Date: Oct 16 thru Nov 5

Market:

Demo: A35+ Station WBPW

Date	Spots	A35+ GRP	Gross	Net
Oct 16 thr	11	33	\$ 825.00	\$ 701.25
Oct 22 thr	29	87	\$ 2,325.00	\$ 1,976.25
Oct 29 thr	29	87	\$ 2,325.00	\$ 1,976.25
5-Nov	12	36	\$ 960.00	\$ 816.00
TOTALS	81	243	\$ 6,435.00	\$ 5,469.75

**Buyer:** Edward Erikson

Flight Date: October 16 thru October 19

Market:

Demo: A35+ Station WBPW

STATION	Daypart	Spots	Rating A35ta	al Av Ratir	,	Rate	Gross	Net
WBPW	M-F 6-10a	0	3.0	0.0	\$	75.00	\$ -	\$ -
0	M-F 10a-3p	0	3.0	0.0	\$	75.00	\$ -	\$ -
SD 1, SD 2	M-F 3p-7p	11	3.0	33.0	\$	75.00	\$ 825.00	\$ -
Rep: Tom	Preble							
TOTALS		11		33.0			\$ 825.00	\$ -

Buyer: Edward Erikson Flight Date: Oct 22 thru 26

Market:

**Demo**: A35+

Station

STATION	Duration	Spots	Rating A35tal Av Ratir		Rate	Gross	ı	Net
WBPW	:60	15	3.0	45.0		\$ 1,275.00	\$	-
WBPW	:30	14		42.0		\$ 1,050.00	\$	-
							\$	-
TOTALS		29		87.0		\$ 2,325.00	\$	-

STATION	Daypart	Spots	Rating A35ta	al Av Ratir	,	Rate	Gross	Net
WBPW	M-F 6-10a	7	3.0	21.0	\$	85.00	\$ 595.00	\$ -
0	M-F 10a-3p	0	3.0	0.0	\$	85.00	\$ -	\$ -
SD 1, SD 2	M-F 3p-7p	8	3.0	24.0	\$	85.00	\$ 680.00	\$ -
Rep: Tom	Preble							
TOTALS		15		45.0			\$ 1,275.00	\$ -

STATION	Daypart	Spots	Rating A35ta	al Av Ratir	Rate		Gross	Net
WBPW	M-F 6-10a	7	3.0	21.0	\$ 75.00	\$	525.00	\$ -
0	M-F 10a-3p	0	3.0	0.0	\$ 75.00	\$	-	\$ -
SD 1, SD 2	M-F 3p-7p	7	3.0	21.0	\$ 75.00	\$	525.00	\$ -
Rep: Tom	Preble							
TOTALS		14		42.0		\$ 1	1,050.00	\$ -

Buyer: Edward Erikson Flight Date: Oct 22 thru 26

Market:

**Demo**: A35+

Station

STATION	Duration	Spots	Rating A35tal Av Ratir		Rate	Gross	ı	Net
WBPW	:60	15	3.0	45.0		\$ 1,275.00	\$	-
WBPW	:30	14		42.0		\$ 1,050.00	\$	-
							\$	-
TOTALS		29		87.0		\$ 2,325.00	\$	-

STATION	Daypart	Spots	Rating A35ta	al Av Ratir	,	Rate	Gross	Net
WBPW	M-F 6-10a	7	3.0	21.0	\$	85.00	\$ 595.00	\$ -
0	M-F 10a-3p	0	3.0	0.0	\$	85.00	\$ -	\$ -
SD 1, SD 2	M-F 3p-7p	8	3.0	24.0	\$	85.00	\$ 680.00	\$ -
Rep: Tom	Preble							
TOTALS		15		45.0			\$ 1,275.00	\$ -

STATION	Daypart	Spots	Rating A35ta	al Av Ratir	Rate		Gross	Net
WBPW	M-F 6-10a	7	3.0	21.0	\$ 75.00	\$	525.00	\$ -
0	M-F 10a-3p	0	3.0	0.0	\$ 75.00	\$	-	\$ -
SD 1, SD 2	M-F 3p-7p	7	3.0	21.0	\$ 75.00	\$	525.00	\$ -
Rep: Tom	Preble							
TOTALS		14		42.0		\$ 1	1,050.00	\$ -

Buyer: Edward Erikson Flight Date: 5-Nov

Market:

**Demo**: A35+

Station

STATION	Duration	Spots	Rating A35tal Av Ratir		Rate	Gross		Net
WBPW	:60	6	3.0	18.0		\$	510.00	\$ -
WBPW	:30	6		18.0		\$	450.00	\$ -
								\$ -
TOTALS		12		36.0		\$	960.00	\$ -

STATION	Daypart	Spots	Rating A35ta	l Av Ratir	Rate	Gross	Net
WBPW	M-F 6-10a	2	3.0	6.0	\$ 85.00	\$ 170.00	\$ -
0	M-F 10a-3p	2	3.0	6.0	\$ 85.00	\$ 170.00	\$ -
SD 1, SD 2	M-F 3p-7p	2	3.0	6.0	\$ 85.00	\$ 170.00	\$ -
Rep: Tom	Preble						
TOTALS		6		18.0		\$ 510.00	\$ -

STATION	Daypart	Spots	Rating A35ta	tal Av Ratir 🛮 Ra		Rate	Gross		Net
WBPW	M-F 6-10a	2	3.0	6.0	\$	75.00	\$	150.00	\$ -
0	M-F 10a-3p	2	3.0	6.0	\$	75.00	\$	150.00	\$ -
SD 1, SD 2	M-F 3p-7p	2	3.0	6.0	\$	75.00	\$	150.00	\$ -
Rep: Tom	Preble								
TOTALS		6		18.0			\$	450.00	\$ -

Buyer:Edward EriksonAgency:Erikson Communication Group, IncFlight Date:Oct 24 thru Nov 5157 Brunswick Suite 102

157 Brunswick Suite 102 Brunswick, ME 04011

Market:

Demo: A35+

A35+ **Phone:** 207-522-4068 :60 and :30

Duration Station

Date	Spots	A35+ GRP	Gross	Net
Week 2	83	246	\$ 6,375.00	\$ 5,418.75
Week 1 (Oct 29 thru	83	246	\$ 6,375.00	\$ 5,418.75
Week 0 (Nov 5)	24	70	\$ 1,680.00	\$ 1,428.00
TOTALS	190	562	\$ 14,430.00	\$ 12,265.50

Buyer: Edward Eriskon Flight Date TBD Market:

Demo: A35+ Client Code:

Stations	Format	Districts	Duration	Spots	AV Ratings	Gross	Net	
WOZI	0	SD 1, SD 2	:30	22	86	\$ 1,430.00	\$ 1,215.50	
WQHR	0	SD 1, SD 2	:30	24	85.8	\$ 1,800.00	\$ 1,530.00	
WOZI			:60	19	74.1	\$ 1,615.00	\$ 1,372.75	
WQHR			:60	18		\$ 1,530.00	\$ 1,300.50	
C	0	\$ -		0	0	0	\$ -	
C	0	\$ -		0	0	0	\$ -	
C	0	\$ -		0	0	0	\$ -	
C	0	\$ -		0	0	0	\$ -	
C	0	\$ -		0	0	0	\$ -	
C	)							
Overall To	tal			83	245.7	\$ 6,375.00	\$ 5,418.75	

Match GROSS 6375 \$ - \$ - \$ - \$ -

10730.25 \$ (5,418.75)

STATION	Daypart	Spots	Rating A35	Total Av Rating	Rate	Gross	Net
WOZI	M-F 6-10a	7	3.9	27.3	\$ 65.00	\$ 455.00	\$ -
0	M-F 10a-3p	7	3.9	27.3	\$ 65.00	\$ 455.00	\$ -
SD 1, SD 2	M-F 3p-7p	8	3.9	31.2	\$ 65.00	\$ 520.00	\$ -
TOTALS		22		85.8		\$ 1,430.00	\$ -

#DIV/0! #DIV/0! #DIV/0!

STATION	Daypart	Spots	Rating A35	Total Av Rating	Rate	Gross	Net
WQHR	M-F 6-10a	8	1.4	0.0	\$ 75.00	\$ 600.00	\$ -
0	M-F 10a-3p	8	1.4	0.0	\$ 75.00	\$ 600.00	\$ -
SD 1, SD 2	M-F 3p-7p	8	1.4	0.0	\$ 75.00	\$ 600.00	\$ -
TOTALS		24		0.0		\$ 1.800.00	\$ 

#DIV/0! #DIV/0! #DIV/0!

STATION	Daypart	Spots	Rating A35	Total Av Rating	Rate	Gross	Net
WOZI	M-F 6-10a	7	3.9	27.3	\$ 85.00	\$ 595.00	\$ -
0	M-F 10a-3p	6	3.9	23.4	\$ 85.00	\$ 510.00	\$ -
SD 1, SD 2	M-F 3p-7p	6	3.9	23.4	\$ 85.00	\$ 510.00	\$ -
TOTALS		19		74.1		\$ 1,615.00	\$ -

STATION	Daypart	Spots	Rating A35	Total Av Rating	Rate	Gross	Net
WQHR	M-F 6-10a	6	1.4	0.0	\$ 85.00	\$ 510.00	\$ -
0	M-F 10a-3p	6	1.4	0.0	\$ 85.00	\$ 510.00	\$ -
SD 1, SD 2	M-F 3p-7p	6	1.4	0.0	\$ 85.00	\$ 510.00	\$ -
TOTALS		18		0.0		\$ 1,530.00	\$ -

Buyer: Edward Eriskon Flight Date TBD Market:

Demo: A35+ Client Code:

Stations	Format	Districts	Duration	Spots	AV Ratings	Gross	Net	
WOZI	0	SD 1, SD 2	:30	22	86	\$ 1,430.00	\$ 1,215.50	
WQHR	0	SD 1, SD 2	:30	24	85.8	\$ 1,800.00	\$ 1,530.00	
WOZI			:60	19	74.1	\$ 1,615.00	\$ 1,372.75	
WQHR			:60	18		\$ 1,530.00	\$ 1,300.50	
C	0	\$ -		0	0	0	\$ -	
C	0	\$ -		0	0	0	\$ -	
C	0	\$ -		0	0	0	\$ -	
C	0	\$ -		0	0	0	\$ -	
C	0	\$ -		0	0	0	\$ -	
C	)							
Overall To	tal			83	245.7	\$ 6,375.00	\$ 5,418.75	

Match GROSS 6375 \$ - \$ - \$ - \$ -

10730.25 \$ (5,418.75)

STATION	Daypart	Spots	Rating A35	Total Av Rating	Rate	Gross	Net
WOZI	M-F 6-10a	7	3.9	27.3	\$ 65.00	\$ 455.00	\$ -
0	M-F 10a-3p	7	3.9	27.3	\$ 65.00	\$ 455.00	\$ -
SD 1, SD 2	M-F 3p-7p	8	3.9	31.2	\$ 65.00	\$ 520.00	\$ -
TOTALS		22		85.8		\$ 1,430.00	\$ -

#DIV/0! #DIV/0! #DIV/0!

STATION	Daypart	Spots	Rating A35	Total Av Rating	Rate	Gross	Net
WQHR	M-F 6-10a	8	1.4	0.0	\$ 75.00	\$ 600.00	\$ -
0	M-F 10a-3p	8	1.4	0.0	\$ 75.00	\$ 600.00	\$ -
SD 1, SD 2	M-F 3p-7p	8	1.4	0.0	\$ 75.00	\$ 600.00	\$ -
TOTALS		24		0.0		\$ 1.800.00	\$ 

#DIV/0! #DIV/0! #DIV/0!

STATION	Daypart	Spots	Rating A35	Total Av Rating	Rate	Gross	Net
WOZI	M-F 6-10a	7	3.9	27.3	\$ 85.00	\$ 595.00	\$ -
0	M-F 10a-3p	6	3.9	23.4	\$ 85.00	\$ 510.00	\$ -
SD 1, SD 2	M-F 3p-7p	6	3.9	23.4	\$ 85.00	\$ 510.00	\$ -
TOTALS		19		74.1		\$ 1,615.00	\$ -

STATION	Daypart	Spots	Rating A35	Total Av Rating	Rate	Gross	Net
WQHR	M-F 6-10a	6	1.4	0.0	\$ 85.00	\$ 510.00	\$ -
0	M-F 10a-3p	6	1.4	0.0	\$ 85.00	\$ 510.00	\$ -
SD 1, SD 2	M-F 3p-7p	6	1.4	0.0	\$ 85.00	\$ 510.00	\$ -
TOTALS		18		0.0		\$ 1,530.00	\$ -

**Buyer**: Edward Eriskon

Flight Date TBD Market:

Demo: A35+ Client Code:

Stations	Format	Districts	Duration	Spots	AV Ratings	Gross	Net	
WOZI	0	SD 1, SD 2	:30	6	23	\$ 390.00	\$ 331.50	
WQHR	0	SD 1, SD 2	:30	6	23.4	\$ 450.00	\$ 382.50	
WOZI			:60	6	23.4	\$ 390.00	\$ 331.50	
WQHR			:60	6		\$ 450.00	\$ 382.50	
0	0	\$ -		0	0	0	\$ -	
0	0	\$ -		0	0	0	\$ -	
0	0	\$ -		0	0	0	\$ -	
0	0	\$ -		0	0	0	\$ -	
0	0	\$ -		0	0	0	\$ -	
0								
Overall To	tal			24	70.2	\$ 1,680.00	\$ 1,428.00	

Match GRC 6375

10730.25 \$ (1,428.00)

STATION	Daypart	Spots	Rating A35	Total Av Rating	Rate	Gross	Net
WOZI	M-F 6-10a	2	3.9	7.8	\$ 65.00	\$ 130.00	\$ -
0	M-F 10a-3p	2	3.9	7.8	\$ 65.00	\$ 130.00	\$ -
SD 1, SD 2	M-F 3p-7p	2	3.9	7.8	\$ 65.00	\$ 130.00	\$ -
TOTALS		6		23.4		\$ 390.00	\$ -

#DIV/0! #DIV/0! #DIV/0!

STATION	Daypart	Spots	Rating A35	Total Av Rating	Rate	Gross	Net
WQHR	M-F 6-10a	2	1.4	0.0	\$ 75.00	\$ 150.00	\$ -
0	M-F 10a-3p	2	1.4	0.0	\$ 75.00	\$ 150.00	\$ -
SD 1, SD 2	M-F 3p-7p	2	1.4	0.0	\$ 75.00	\$ 150.00	\$ -
TOTALS		6		0.0		\$ 450.00	\$ -

#DIV/0! #DIV/0! #DIV/0!

STATION	Daypart	Spots	Rating A35	Total Av Rating	Rate	Gross	Net
WOZI	M-F 6-10a	2	3.9	7.8	\$ 65.00	\$ 130.00	\$ -
0	M-F 10a-3p	2	3.9	7.8	\$ 65.00	\$ 130.00	\$ -
SD 1, SD 2	M-F 3p-7p	2	3.9	7.8	\$ 65.00	\$ 130.00	\$ -
TOTALS		6		23.4		\$ 390.00	\$ -

STATION	Daypart	Spots	Rating A35	Total Av Rating	Rate	Gross	Net
WQHR	M-F 6-10a	2	1.4	0.0	\$ 75.00	\$ 150.00	\$ -
0	M-F 10a-3p	2	1.4	0.0	\$ 75.00	\$ 150.00	\$ -
SD 1, SD 2	M-F 3p-7p	2	1.4	0.0	\$ 75.00	\$ 150.00	\$ -
TOTALS		6	_	0.0		\$ 450.00	\$ -

# AGREEMENT FORM FOR NON-CANDIDATE/ISSUE ADVERTISEMENTS

Station and	Location:			Da	ite:			
WOZI, WQHR	, Presque Isle			10/	24/18			
I, Edward Erikson do hereby request station time concerning the following issue:  The campaign for Maine Senate in SD 2								
The campaign i	The campaign for Maine Senate in SD 2							
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks			
Total Char	ges:							
This broadcast time will be used by: The Maine Democratic Party								
Does the programming (in whole or in part) communicate "a message relating to any political matter of national importance?"								
✓ Yes □ No								

For programming that "communicates a message relating to any political matter of national
importance," list the name of the legally qualified candidate(s) the programming refers to, the
office(s) being sought and the date(s) of the election(s) (if applicable):

Mike Carpenter and Kare November 6, 2018	en Reynolds, Maine Sena	te, District 2, for the G	General Election,
	communicates a message eed Upon Schedule (Page	~	al matter of national
I represent that the pays	ment for the above describ	ed broadcast time ha	s been furnished by:
The Maine Democratic I	Party		
•	o announce the time as pa if other than an individua		or entity. The entity
a corporation; 🗸	a committee; $\square$ an ass	ociation; $\square$ or oth	er unincorporated group.
	addresses of the chief exe named below (may be atta		tors, and/or authorized
THIS STATION DOES I			MINATION ON THE BASI
I agree to indemnify and he reasonable attorney's fees, advertisement(s). For the transcript, or tape, which before the time of the school	that may ensue from the l above-stated broadcast( will be delivered to the	oroadcast of the above s), I also agree to pr	e-requested epare a script,
то в	E SIGNED BY IS	SUE ADVERT	SER
10/24/2018	totati-	202-420	-9947
Date	Signature	Co	ntact Phone Number
TO BE	SIGNED BY STA	TION REPRES	SENTATIVE
☐ Accepted	☐ Accep	oted in Part	☐ Rejected
Signature	Pri	nted Name	Title

### AGREED UPON SCHEDULE

For All Issue Advertisements That Communicate a Message Relating to Any Political Matter of National Importance

Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks

### **Total Charges:**

### AFTER AIRING OF BROADCASTS:

Attach invoices or Schedule Run Summary to this Form showing:

- (1) actual air time and charges for each spot;
- (2) the date(s), exact time(s) and reason(s) for Make-Good(s), if any; and
- (3) the amount of rebates given (identify exact date, time, class of broadcast and dollar amount for each rebate), if any.

Note: Because the FCC requires that the political file contain the actual times the spots air, that information should be included in the file as soon as possible. If that information is only generated monthly, the file should include the name of a contact person who can provide the times that specific spots aired.

#### CONTRACT



WBPW-FM 551 Main Street Presque Isle, ME 04769 (207) 769-6600

And:

**Totals** 

**Katz Media Group** 125 West 55th Street New York, NY 10019

12

	Contract / Revision		Alt Order #
	761514 /		
<u>Advertiser</u>		Ori	iginal Date / Revision
Maine Democratic Party		1	1/02/18 / 11/02/18
Contract Dates	Estimate #		
11/05/18 - 11/05/18			
Product			
Maine Senate District #2			

Billing Cycle Billing Calendar Cash/Trade EOM/EOC **Broadcast** Cash Property Account Executive Sales Office WBPW-FM Ryan Guerrette Local Presque Is Special Handling **Demographic** Households Agy Code Advertiser Code Product 1/2 RI13287 Agency Ref Advertiser Ref

WBPW-FM - 761514A	Start/End	Spots/			
*Line Ch Start Date End Date Description	Time	Days Length Week Rate	Type S	pots	Amount
N       1       WBPW11/05/18       11/05/18       M-F AM DRIVE         Start Date       End Date       Weekdays       Spots/Week         Week: 11/05/18       11/11/18       M       2	6A-10A <u>Rate</u> \$75.00	:30	NM	2	\$150.00
N       2       WBPW11/05/18       11/05/18       M-F AM DRIVE         Start Date       End Date       Weekdays       Spots/Week         Week: 11/05/18       11/11/18       M       2	6A-10A <u>Rate</u> \$85.00	1:00	NM	2	\$170.00
N       3       WBPW11/05/18       11/05/18       M-F MIDDAY         Start Date       End Date       Weekdays       Spots/Week         Week: 11/05/18       11/11/18       M       2	10A-3P <u>Rate</u> \$75.00	:30	NM	2	\$150.00
N         4         WBPW11/05/18         11/05/18         M-F MIDDAY           Start Date         End Date         Weekdays         Spots/Week           Week: 11/05/18         11/11/18         M         2	10A-3P <u>Rate</u> \$85.00	1:00	NM	2	\$170.00
N         5         WBPW11/05/18         11/05/18         M-F PM DRIVE           Start Date         End Date         Weekdays         Spots/Week           Week: 11/05/18         11/11/18         M         2	3P-7P <u>Rate</u> \$75.00	:30	NM	2	\$150.00
N       6       WBPW11/05/18       11/05/18       M-F PM DRIVE         Start Date       End Date       Weekdays       Spots/Week         Week:       11/05/18       11/11/18       M       2	3P-7P <u>Rate</u> \$85.00	1:00	NM	2	\$170.00
		Totals		12	\$960.00

Time Period # of Spots **Gross Amount** Agency Comm. Net Amount 10/29/18 -11/05/18 12 \$960.00 (\$144.00)\$816.00

(\$144.00)

\$960.00

WQHR-FM - 761514B	Start/End	Sp	ots/			
*Line Ch Start Date End Date Description	Time	Days Length We	ek Rate	Type S	pots	Amount
N 1 WQHR11/05/18 11/05/18 M-F AM DRIVE	6A 10A	:30		NM	2	\$150.00
Start Date         End Date         Weekdays         Spots/Week           Week: 11/05/18         11/11/18         M         2	<u>Rate</u> \$75.00					
N 2 WQHR11/05/18 11/05/18 M-F AM DRIVE Start Date End Date Weekdays Spots/Week	6A 10A <u>Rate</u>	1:00		NM	2	\$150.00

\$816.00

(\* Line Transactions: N = New, E = Edited, D = Deleted)

Contract Agreement Between: Print Date 12/05/18 Page 2 of 3



Contract / Re	evision_	Alt Order #	
761514	/		

| Advertiser | Original Date / Revision |
| Maine Democratic Party | 11/02/18 / 11/02/18

Contract DatesProductEstimate #11/05/18 - 11/05/18Maine Senate District #2

WQHR-FM - 761514B *Line Ch Start Date End Date Description	Start/End Time	Spots/ Days Length Week Rate	Type	Spots	Amount
Start Date         End Date         Weekdays         Spots/Week           Week: 11/05/18         11/11/18         M         2	<u>Rate</u> \$75.00				
N 3 WQHR11/05/18 11/05/18 M-F MIDDAY <u>Start Date</u> <u>End Date</u> <u>Weekdays</u> <u>Spots/Week</u> Week: 11/05/18 11/11/18 M 2	10A-3P <u>Rate</u> \$75.00	:30	NM	2	\$150.00
N         4         WQHR 11/05/18         11/05/18         M-F MIDDAY           Start Date         End Date         Weekdays         Spots/Week           Week:         11/05/18         11/11/18         M         2	10A-3P <u>Rate</u> \$75.00	1:00	NM	2	\$150.00
N         5         WQHR 11/05/18         11/05/18         M-F PM DRIVE           Start Date         End Date         Weekdays         Spots/Week           Week:         11/05/18         11/11/18         M         2	3P-7P <u>Rate</u> \$75.00	:30	NM	2	\$150.00
N         6         WQHR 11/05/18         11/05/18         M-F PM DRIVE           Start Date         End Date         Weekdays         Spots/Week           Week:         11/05/18         11/11/18         M         2	3P-7P <u>Rate</u> \$75.00	1:00	NM	2	\$150.00
		Totals		12	\$900.00

 Time Period
 # of Spots
 Gross Amount
 Agency Comm.
 Net Amount

 10/29/18 -11/05/18
 12
 \$900.00
 (\$135.00)
 \$765.00

 Totals
 12
 \$900.00
 (\$135.00)
 \$765.00

WOZI-FM - 761514C	Start/End Time	Spots/	T	04-	A t
*Line Ch Start Date End Date Description	Time	Days Length Week Rate	ı ype	Spots	Amount
N 1 WOZI 11/05/18 11/05/18 M-F AM DRIVE <u>Start Date</u> <u>End Date</u> <u>Weekdays</u> <u>Spots/Week</u> Week: 11/05/18 11/11/18 M 2	6A-10A <u>Rate</u> \$65.00	:30	NM	2	\$130.00
N       2       WOZI       11/05/18       11/05/18       M-F AM DRIVE         Start Date       End Date       Weekdays       Spots/Week         Week:       11/05/18       11/11/18       M       2	6A-10A <u>Rate</u> \$65.00	1:00	NM	2	\$130.00
N       3       WOZI       11/05/18       11/05/18       M-F MIDDAY         Start Date       End Date       Weekdays       Spots/Week         Week:       11/05/18       11/11/18       M       2	10A-3P <u>Rate</u> \$65.00	:30	NM	2	\$130.00
N       4       WOZI       11/05/18       11/05/18       M-F MIDDAY         Start Date       End Date       Weekdays       Spots/Week         Week:       11/05/18       11/11/18       M       2	10A-3P <u>Rate</u> \$65.00	1:00	NM	2	\$130.00
N       5       WOZI       11/05/18       11/05/18       M-F PM DRIVE         Start Date       End Date       Weekdays       Spots/Week         Week:       11/05/18       11/11/18       M       2	3P-7P <u>Rate</u> \$65.00	:30	NM	2	\$130.00
N       6       WOZI       11/05/18       11/05/18       M-F PM DRIVE         Start Date       End Date       Weekdays       Spots/Week         Week:       11/05/18       11/11/18       M       2	3P-7P <u>Rate</u> \$65.00	1:00	NM	2	\$130.00

Totals 12 \$780.00

 Time Period
 # of Spots
 Gross Amount
 Agency Comm.
 Net Amount

 10/29/18 -11/05/18
 12
 \$780.00
 (\$117.00)
 \$663.00

 Totals
 12
 \$780.00
 (\$117.00)
 \$663.00

Contract Totals 36 \$2,640.00

Page 3 of 3 Contract Agreement Between: Print Date 12/05/18



	Contract / Revision		Alt Order #			
	761514 /					
<u>Advertiser</u>		0	riginal Date / Revision			
Maine Democratic Party			11/02/18 / 11/02/18			
Contract Dates	Product		Estimate #			
11/05/18 - 11/05/18	Maine Senate Dist	rict #2	2			

olginature: Date:	Signature:		Date:	
-------------------	------------	--	-------	--